ABN: 28 123 456 789

678-690 Kent Street Maryborough

# **Draft**

NED'S

COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 01/10/2025

Payment Due:

Customer#: ASHS

The Kelly Gang is delighted to hear from you and we appreciate you giving us the opportunity to safely transport your group on one of our Dragonfly coaches.

We are pleased to provide you with the following quote.

**Charter Ref#**: 510 **Your PO/Ref#**: A Purchase Order is required before sending the Confirmation

**Depot:** MARY

**Group:** Sports Academy Term 3 2026

Saturday 18th July, 2026

Movement: 1 Academy Climb & Sail

PAX: 2 adults + 38 students Vehicle Options: Air Conditioning, Seat Belts

Contact on day: Cain Bennett Mobile: 0432 887 474

Saturday 18th July, 2026

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]
10:45 AM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
10:55 AM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
11:05 AM Arrive Hervey Bay Salling Club [427 Explanade Rd Torquay QLD]

11:05 AMArriveHervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]11:15 AMDepartHervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]11:25 AMArriveJetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

1:55 PM Depart Jetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

2:10 PM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
2:15 PM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]

2:25 PM Arrive Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
2:30 PM Depart Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
3:15 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 2 Academy Golf

Driver instructions: Drivers - Please note. The return pax numbers from the golf course to the school will be reduced

PAX: 1 adults + 16 students Contact on day: Greg Norman Mobile: 0422 554 445

10.05 AM Domont

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]
10:20 AM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]
Maryborough Golf Club [239 Queen St Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

ABN: 28 123 456 789

678-690 Kent Street Maryborough

### Draft

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 01/10/2025

Payment Due:

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

**Depot**: MARY

**Group:** Sports Academy Term 3 2026

Movement: 3 Academy Golf

Driver instructions: Drivers - Please note. The return pax numbers from the golf course to the school will be reduced

PAX: 1 adults + 9 students

3:05 PM Depart Maryborough Golf Club [239 Queen St Maryborough QLD] 3:20 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details: Recu Start Date: Sat 18th July, 2026 Sat 1

End Date: Sat 19th September, 2026

Duration: every 1 Weekly on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 4 Academy BMX Riding

Driver instructions: Drivers - Please note. The return pax numbers from the golf course to the school will be reduced

PAX: 1 adults + 32 students Contact on day: Logan Mark Mobile: 0403 224 404

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]

11:20 AM Arrive Cooloola BMX Club [Byron St Gympie QLD]

2:30 PM Depart Cooloola BMX Club [Byron St Gympie QLD]

3:45 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details: Start Date: Sat 18th July, 2026

End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement

1	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 795.00	\$ 7,950.00
2	1 x Mini Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
3	1 x Comuter Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
4	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 1,125.00	\$ 11,250.00

Terms: 14 Days Invoice Date

Total (inc GST): \$ 26,400.00

**Includes GST of:** \$ 2,400.00

ABN: 28 123 456 789

678-690 Kent Street Maryborough

### **Draft**

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

**Ref#**: 510

Date: 01/10/2025

**Payment Due:** 

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Quotations are valid for 30 days from date of issue, unless you already have a contract with the Kelly Gang. We appreciate your careful review of the quote to make sure the details outlined match your reuirements.

Please reply by email your aceptance of, or alteration to, this quote. All quotes are subject to our written return confirmation from one of our crew at Camp Kelly.

Ned Kelly

\*\*\*\*\* Workings on next page \*\*\*\*\*

Workings: ***** Only prints when charter is in Draft mode *****											
Date VS Type	Raw Data Calculations	Qty	Rate	Qty*Rate	Ovh+ Fixed	Pre-Tax	Tax	Amount	Cost	Margin	Margin
Movement SATURE	Academy Climb & Sail  DAY 18/07										
2 Distance	e Midi (35-48) Kms: 102 at \$3.12/km	102	3.16	322.79	0.00	321.89	32.19	354.08	283.56	38.33	
Time	SAT: Hrs: 6.1667 at \$65/hr	6.17	65	400.84	0.00	400.84	40.08	440.92	350.22	50.62	
	SAT: Hrs: -1 at \$0/hr [less: meal break]	0	0	0.00	0.00	0.00	0.00	0.00	-56.79	56.79	

Movement Timings/Tolls

09:30 am Start MARY: Maryborough 09:40 am Depart MARY: Maryborough 10:00 am Arrive Aldridge State High School 10:05 am Depart Aldridge State High School

10:45 am Arrive The Hervey Bay Neighbourhood Centre 10:55 am Depart The Hervey Bay Neighbourhood Centre

11:05 am Arrive Hervey Bay Sailing Club 11:15 am Depart Hervey Bay Sailing Club 11:25 am Arrive Jetty St, Urangan, Hervey Bay

Wait - 2 hours 30 minutes

01:55 pm Depart Jetty St, Urangan, Hervey Bay

02:10 pm Arrive The Hervey Bay Neighbourhood Centre 02:15 pm Depart The Hervey Bay Neighbourhood Centre

02:25 pm Arrive Hervey Bay Sailing Club 02:30 pm Depart Hervey Bay Sailing Club

03:15 pm Arrive Aldridge State High School 03:25 pm Depart Aldridge State High School 03:30 pm Arrive Depot: MARY: Maryborough 03:40 pm Finish Depot: MARY: Maryborough

Movement time: 6 hrs 10 mins Working time: 3 hrs 40 mins Waiting time: 2 hrs 30 mins

						Moven	nent Total:		795.00	576.99	145.74
M	ovement	2 Academy Golf									
4	Distance	Mini (15-24) Kms: 11 at \$2.2/km	11	2.59	28.49	0.00	27.84	2.79	30.63	21.23	6.61
	Time	SAT: Hrs: 1.25 at \$65/hr	1.25	65	81.25	0.00	81.25	8.12	89.37	70.99	10.26
	Charge	Minimum Charge (by: Movement) 1 at \$218.18	1	218.18	218.18	0.00	218.18	21.82	240.00	99.39	118.79

Movement Timings/Tolls

Driver Instructions: [Drivers - Please note. The return pax numbers from the golf course to the school will be reduced]

09:30 am Start MARY: Maryborough 09:40 am Depart MARY: Maryborough 10:00 am Arrive Aldridge State High School 10:05 am Depart Aldridge State High School 10:20 am Arrive Maryborough Golf Club 10:25 am Depart Maryborough Golf Club 10:35 am Arrive Depot: MARY: Maryborough 10:45 am Finish Depot: MARY: Maryborough

Movement time: 1 hrs 15 mins Working time: 1 hrs 15 mins

Movement Total: 360.00 191.61 135.66

Workings: \*\*\*\*\* Only prints when charter is in Draft mode \*\*\*\*\*

Date VS Type	Raw Data Calculations	Qty	Rate	Qty*Rate	Ovh+ Fixed	Pre-Tax	Tax	Amount	Cost	Margin	
Movement	3 Academy Golf										
1 Distance	e Comuter (9-12) Kms: 11 at \$1.5/km	11	1.74	19.10	0.00	18.75	1.88	20.63	16.06	2.69	
Time	SAT: Hrs: 1.25 at \$65/hr	1.25	65	81.25	0.00	81.25	8.12	89.37	70.99	10.26	
Charge	Minimum Charge (by: Movement) 1 at \$227.27	1	227.27	227.27	0.00	227.27	22.73	250.00	99.39	127.88	

Movement Timings/Tolls

Driver Instructions: [Drivers - Please note. The return pax numbers from the golf course to the school will be reduced]

02:25 pm Start MARY: Maryborough 02:35 pm Depart MARY: Maryborough 03:00 pm Arrive Maryborough Golf Club 03:05 pm Depart Maryborough Golf Club 03:20 pm Arrive Aldridge State High School 03:25 pm Depart Aldridge State High School

03:30 pm Arrive Depot: MARY: Maryborough 03:40 pm Finish Depot: MARY: Maryborough

Movement time: 1 hrs 15 mins Working time: 1 hrs 15 mins

							Movem	nent Total:		360.00	186.44	140.83
M	ovement	4	Academy BMX Riding									
3	Distance	Midi	(35-48) Kms: 188 at \$3.12/km	188	3.14	590.22	0.00	589.39	58.94	648.33	522.64	66.75
	Time	SAT:	: Hrs: 6.6667 at \$65/hr	6.67	65	433.34	0.00	433.34	43.33	476.67	378.62	54.72
		SAT: brea	: Hrs: -1 at \$0/hr [less: meal k]	0	0	0.00	0.00	0.00	0.00	0.00	-56.79	56.79

### Movement Timings/Tolls

Driver Instructions: [Drivers - Please note. The return pax numbers from the golf course to the school will be reduced]

09:30 am Start MARY: Maryborough 09:40 am Depart MARY: Maryborough 10:00 am Arrive Aldridge State High School 10:05 am Depart Aldridge State High School

11:20 am Arrive Cooloola BMX Club

Wait - 3 hours

02:30 pm Depart Cooloola BMX Club 03:45 pm Arrive Aldridge State High School 03:55 pm Depart Aldridge State High School 04:00 pm Arrive Depot: MARY: Maryborough 04:10 pm Finish Depot: MARY: Maryborough

Movement time: 6 hrs 40 mins Working time: 3 hrs 40 mins Waiting time: 3 hrs 00 mins

Movement Total: 1125.00 844.47 178.26

Charter Total: 2640.00 1799.51 600.49

ABN: 28 123 456 789

678-690 Kent Street Maryborough

## Quote

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

**Ref#**: 510

Date: 01/10/2025 Quote Expiry: 31/10/2025

Customer#: ASHS

The Kelly Gang is delighted to hear from you and we appreciate you giving us the opportunity to safely transport your group on one of our Dragonfly coaches.

We are pleased to provide you with the following quote.

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Saturday 18th July, 2026

Movement: 1 Academy Climb & Sail

PAX: 2 adults + 38 students Vehicle Options: Air Conditioning, Seat Belts

Contact on day: Cain Bennett Mobile: 0432 887 474

Saturday 18th July, 2026

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]

10:45 AM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
10:55 AM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]

11:05 AM Arrive Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD] 11:15 AM Depart Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]

11:15 AM Depart Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
11:25 AM Arrive Jetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

1:55 PM Depart Jetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

2:10 PM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
2:15 PM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]

2:25 PM Arrive Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
2:30 PM Depart Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]

3:15 PM Arrive
Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 2 Academy Golf

PAX: 1 adults + 16 students Contact on day: Greg Norman Mobile: 0422 554 445

10:05 AM Depart

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]
10:20 AM Arrive Maryborough Golf Club [239 Queen St Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

ABN: 28 123 456 789

678-690 Kent Street Maryborough

### Quote



Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 01/10/2025 Quote Expiry: 31/10/2025

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Movement: 3 Academy Golf

PAX: 1 adults + 9 students

3:05 PM Depart Maryborough Golf Club [239 Queen St Maryborough QLD] 3:20 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 4 Academy BMX Riding

PAX: 1 adults + 32 students Contact on day: Logan Mark Mobile: 0403 224 404

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]

11:20 AM Arrive Cooloola BMX Club [Byron St Gympie QLD]

2:30 PM Depart Cooloola BMX Club [Byron St Gympie QLD]

3:45 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026

End Date: Sat 19th September, 2026 Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement

1	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 795.00	\$ 7,950.00
2	1 x Mini Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
3	1 x Comuter Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
4	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 1,125.00	\$ 11,250.00

Terms: 14 Days Invoice Date

Total (inc GST): \$ 26,400.00

**Includes GST of:** \$ 2,400.00

ABN: 28 123 456 789

678-690 Kent Street Maryborough

## Quote

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 01/10/2025 Quote Expiry: 31/10/2025

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Quotations are valid for 30 days from date of issue, unless you already have a contract with the Kelly Gang. We appreciate your careful review of the quote to make sure the details outlined match your reuirements.

Please reply by email your aceptance of, or alteration to, this quote. All quotes are subject to our written return confirmation from one of our crew at Camp Kelly.

Ned Kelly

ABN: 28 123 456 789

678-690 Kent Street Maryborough

# **Confirmation**

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 05/10/2025 Payment Due: 01/08/2026

Customer#: ASHS

Thank you for choosing Ned's! The Kelly Gang is pleased to confirm the safe transport of your group with us!

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Saturday 18th July, 2026

Movement: 1 Academy Climb & Sail

PAX: 2 adults + 38 students Vehicle Options: Air Conditioning, Seat Belts

Contact on day: Cain Bennett Mobile: 0432 887 474

Saturday 18th July, 2026

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]

10:45 AM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
10:55 AM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]

11:05 AM Arrive
11:15 AM Depart
11:25 AM Arrive
Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
Jetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

1:55 PM Depart Jetty St, Urangan, Hervey Bay [Jetty St Urangan QLD]

2:10 PM Arrive The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]
2:15 PM Depart The Hervey Bay Neighbourhood Centre [184 Boat Harbour Dr Pialba QLD]

2:25 PM Arrive Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]

2:30 PM Depart Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
3:15 PM Arrive Hervey Bay Sailing Club [427 Esplanade Rd Torquay QLD]
3:15 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026

End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 2 Academy Golf

PAX: 1 adults + 16 students Contact on day: Greg Norman Mobile: 0422 554 445

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]
10:20 AM Arrive Maryborough Golf Club [239 Queen St Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

ABN: 28 123 456 789

678-690 Kent Street Maryborough

# Confirmation



Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 05/10/2025 **Payment Due:** 01/08/2026

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Movement: 3 Academy Golf

PAX: 1 adults + 9 students

3:05 PM Depart Maryborough Golf Club [239 Queen St Maryborough QLD] 3:20 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement: 4 Academy BMX Riding

PAX: 1 adults + 32 students Contact on day: Logan Mark Mobile: 0403 224 404

10:05 AM Depart Aldridge State High School [47 Boys Ave Maryborough QLD]

11:20 AM Arrive Cooloola BMX Club [Byron St Gympie QLD]

2:30 PM Depart Cooloola BMX Club [Byron St Gympie QLD]

3:45 PM Arrive Aldridge State High School [47 Boys Ave Maryborough QLD]

Recurring details:

Start Date: Sat 18th July, 2026 End Date: Sat 19th September, 2026

Duration, aver 4 Weekly

Duration: every 1 Weekly

on Sat

Recurring on:

Sat 18/07/26, Sat 25/07/26, Sat 01/08/26, Sat 08/08/26, Sat 15/08/26, Sat 22/08/26, Sat 29/08/26, Sat

05/09/26, Sat 12/09/26, Sat 19/09/26

Movement				
1	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 795.00	\$ 7,950.00
2	1 x Mini Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
3	1 x Comuter Coach with Air Conditioning, Seat Belts	10 @	\$ 360.00	\$ 3,600.00
4	1 x Midi Coach with Air Conditioning, Seat Belts	10 @	\$ 1,125.00	\$ 11,250.00

**Terms:** 14 Days Invoice Date **Total (inc GST):** \$26,400.00

**Includes GST of:** \$ 2,400.00

ABN: 28 123 456 789

678-690 Kent Street Maryborough

# **Confirmation**

NED'S
COACHES
why drive when you can dragonfly

Aldridge State High School

Maria Angel

Work: 07 4120 8734 Mobile: 0423 778 998 email: maria\_angel@ashs.qld.edu.au

Ref#: 510

Date: 05/10/2025 Payment Due: 01/08/2026

Customer#: ASHS

Charter Ref#: 510 Your PO/Ref#: A Purchase Order is required before sending the Confirmation

Depot: MARY

**Group:** Sports Academy Term 3 2026

Time and locations are critical in a Kelly Gang operation. Please check to make sure we have understood your requirements. If something is not quite right, we need to know immediately so we can ensure a smooth operation for our travelling guests.

We look forward to having your group onboard the Dragonfly.

Regards

Camp Kelly at Ned's Coaches

Ned Kelly